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QUESTION 1

A customer has an existing LAN consisting of Layer 2 Ethernet switches with Category 5 wire running to the desktop.
The customer plans to add Avaya IP Phones for each user. The customer wants to eliminate desktop power because of
UPS system limitation. The customer\\'s Avaya IP phones can be powered by _____. (Choose two.) 

A. a mid-span power unit 

B. a C363-PWR Ethernet switch 

C. adding shared UPS at the desktop 

D. any IEEE 802.3pr standard Ethernet switch 

Correct Answer: AB 

 

 

QUESTION 2

Given a migration from Definity Server R, release 10, to Communication Manager 4.0, which of the following is not
supported? 

A. BX.25 

B. ISDN-BRI 

C. Fractional DS1 

D. TN1654 E1 mode 

Correct Answer: A 

 

QUESTION 3

An RFP for a Interactive Voice Response (IVR) unit and mid-sized communication system has been released. You are
responsible for determining the design solution. The RFP states that the IVR platform must be engineered to handle 135
25-second messages during the busy hour. You calculate this requirement to equal 47 ports. If you provide 47 ISDN
PRI trunks (two ISDN PRI facilities), which two traffic concerns must you consider? (Choose two.) 

A. No trunk growth is available on the ISDN PRI facilities. 

B. 47 active trunks overload the two ISDN PRI facilities, seriously affecting traffic load and call completions. 

C. Considering there is only one channel for signaling, a backup D channel cannot be provided, affecting traffic if the D
channel fails. 

D. ISDN PRI facilities direct from the central office limit the caller\\'s ability to connect to the proper resource, causing
increased usage. 

Correct Answer: AC 
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QUESTION 4

Your customer is looking to open a new standalone office to support 80 call center agents with 9630 IP telephones.
They will be bringing in two local voice T1s for their call center traffic. The customer will be providing all data equipment.
This is a very competitive situation. What is the most cost-effective solution to propose to the customer? 

A. S8500 / G650 

B. S8300 / G450 

C. S8300 / G350 

D. S8300 / IG550 

Correct Answer: B 

 

QUESTION 5

Your client\\'s department store business has 24 locations worldwide. Each location has its own communications switch
and is included in a QSIG network. The stores have standardized on specific extension numbers representing
departments. The client is considering moving to a single, distributed S87xx system but is concerned with the loss of
dial plan functionalities. Which three common platform-wide issues must be addressed? (Choose three.) 

A. "0" local attendant access 

B. identical names-group members in use in all stores 

C. identical department extension numbers in use in all stores 

D. same announcement extension numbers in use in all stores 

Correct Answer: ACD 
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